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PARTA (20 % 5 = 100 MARKS)
(Answer any 20 / fft 20 wit % 3 )
Q1 ((%)“Fa)z- =22 pindthevalue of ¥/ § 1 7 Rt

Q.2 Find the least number which is a perfect square and is divisible by each of the
number 16, 20 and 24./ ¥g wa® @ dwm wra S ot f oF pfaf awn g v 16, 20 w24 &
Frerfar #n
Twao Bus tickets from city A to B and three Tickets from city A to C costs Rs 77, but
three ticket from city A to B and two tickets from A to C cost Rs 73. What are the
fares for cities B and C from A7/« A% B mram$r2fw=sz A & Cograrr fr a o ot
FAfmT 77 evr kAt AR Bogras a5 amA Y CoammaF2 R e fom 1awot &
A mgr & B aw C g w7 77 R =7 @ ?

Q.4 Divide the number 26244 by the smallest number so that the quotient is a perfect

cube./ #sT 26244 1w @i wwar & R #, R e w7 g T O T @l
2} How many natural numbers lie between squares of 89 and 100./ asLlrr. 100 ¥ 991 &

dw Fra arioe s gra 27

Q6 What sum of money will amount to Rs 4235 in 3;:- years at 6 % per annum simple
interest?/ S%ﬁﬁaﬁm?ﬁ?mﬁﬂﬁmﬂmﬂmﬁlm

Q.7\ A train moving with a speed of 90 km/hr crosses an electric pole in 15 seconds.
What is the length of the train in mebers?/ af* g0 Rnfirse $t aft & s arelt o Yo o
areft 3wt 2 15 a%w i qro w0 § 7 IO YE F e e F ww w70

4" +1_|‘n+1

Q8  Simplify fawer wt:

.y SR
Su4n—4"
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Q.9 Find the value of anglwx Ay w7 A AT W

—fi:

x5
ix

¥

.
o

10) Find the smallest numper which when divided by 24, 36, and 48 leaves the

remainder 21, 33, and 45 respectively. mad avét swar 1 wrr #% Rt 24, 36 ot 48 & wrr 23
TCEAM: 21,33 3 45 dg ey

Q.11 Find the Value ofxand yit3x -7 = i and x +~=1
. ¥

irﬁ‘.EIx—?=i dx +i=1t,€rxdh:y!ﬁrm=rmﬁl

Q12/1f 2 men and 5 women can do a certain piece of work in 4 days, while one man and
one woman can finish it in 12 days, how long would it take 1 man to do the work?/
T2 2 gov e 5 wRATG 0w Rftr W 5 4 ﬁﬁ#ﬁmgﬂiﬁ:mmmw#ﬁmmwﬁﬂ#

. TOEeTEE fiAT STEHT & I0 B F F F R g shm?
Q.13 Divide Rs 4250 into three parts such that the second is 80% of the first and the ratio
between the first and third s Si8./ Twh 4250 9 ey writ # ww wew Frwfa w5 o e
80% 21 sf g A et & s w7 s 5.8 8n

Q14 mthg.[g_ﬂ‘qmgg arallel to BC. Find the values of x and ¥

Q.16

Q17 Aboat goes 25 km downstream in 2.5 hours and 12 km upstream in

the speed of the boat in stifl water and the speed of the stream, / A Tt Ry

ﬁﬂﬁ:ﬂﬁ'g&z.sﬁinmam L
R g A Ry mwmwﬁwmﬁ““ﬁ*mﬁ
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0.18 1nthe given figure, LOM is a straight line. What is value of x.
Ay Pt it R & o LOM 0% 5ot T & 1 2 7 vy o

p
(3x + 15}%

L o M
Q.19 Thearea ofa right angled triangle is 42cm?. If its perpendicular is equal to 10cm.
" Bind its base, /s wrwor B w1 8w 42 s & s € s i s 10 W vy

> i st wrw S
20 i train covers distance between two stations A and B in 2 hours. If the speed of train
. is reduced by 6 km/hr, then it travels the same distance in 3 hours, Calculate the

distance between two stations and speed of train. /o= 2#1& ot At A B fivfigfr
2 it a vt & o I o 0T 6 Reftrder v e ot ot & 9 a3 52 #F e ft A el @ @ Rt
¥ & & gf ol 3 B af o
Q.21 A copper wire when bent in the form of a square encloses an area of 121cm?. If the
/ same wire is bent into the form of a circle, find its area. / o= 7i¥ #1 aX=7 0% a7 o A=y
A 7 75 121 #ft 3 deower o S ) oft 3t e o s o i reT A A I 3 W S AT
Fefirm
Q.22 Rahim sold two of his buffaloes for Rs 20,000 each, on one, he made a gain of 5%
' and on the other, a loss of 10%. Find his overall gain or loss.
e a2 #8 & & wis %1 20,000 w0 T w0 0% T 5% T I SHTAT & i g9t T 10%
& 1T T &y Tl T 3 AT AT o
W:ﬁ The price of machine depreciates at 10% every year. If the present value of the

machine be Rs 100000, what will be its value after 3 yrs. /s wsftr % g% 10% fr et i
wErE f % & AT & af it 57 T g 100000 Tea & 9 3 o aTr A e A

BART B (10 x 10 = 100 MARKS)
(Answer any 10 / Fft 10 wit % 77 %)

A

@‘ can do a piece of work in 25 days and B can finish it in 20 days. They work

(Y together for 5 days and then A goes away. In how many days will B finish the
remaining work? / Aus s %t 25 BT i qor 9% e 4 s B =¥t wrwr %1 20 Rt & gy s w2
Eﬁ;_fi;ﬂﬁr:hmmﬁﬂmsﬂﬂnwmﬁmtmﬁﬁﬂwmEﬁmﬁﬁhﬂ'mﬁﬁﬁmﬁ

" g

QI-ZS/ A bus starts with some passengers. At the first stop, one-fifth of the passengers get
i

down and 40 passengers get in.At the second stop, half of the passengers get down

< and 30 get in. The number of passengers now is 70. What was the number of
passengers when the bus was started?/ ww sw s anftaf % g =y 1% Wt f19E I
et &7 15 R am A P zmwar @ Tt 40 arft a0 & w5 g TETe o i ardt A T & ww e
30 Y 731 ¢ S &, s P 7w F TR s Hwar 70 & A epea & 7w Rt A i

Q26 Find the values of a and b so'that x* + x* + 8x% + ax + b is divisible by (x* + 1)
exactly./ @ b s s wtaft x* + x? + 8x? + ax 4+ b q: (x? 4+ 1) #RwmiEY
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Q27 The marked price of bicycle is Rs 1100. A shopkeeper allows a discount :i 1;;]23"
get a profit of 10%. Find cost price of bicycle./ 7% arf¥= w1 sifr = 1100 ,
TRTT10% 1 gz 3 & e 10% w1 AT TR e & AR w7 g e e

0.28 /A mason can build a tank in 12 hrs. After working for 6 hrs, he took the help of a boy
and finished the work in another 5 hrs. In how many hours the boy can build th:lm "
tank alone?/ m Fredft fift # 97 12 2 & 1 % R & Wi wr w73 A, TF 0% 79 § TEO
AT ST § W w0 o A B T g e e I T &7

Q.29 Using ruler & compass only constructa quadrilateral ABCD in which BC = 6cm,
CD=4cm, <B=75°, <C=90° and <D=120°. /7w % 7= i srgramn & 1% ¥ ABCD &
T %% fw# BC = 6em, CD=4cm, <B=75", <C=80° r<D=120".

30 Ywo candles, one of which is 3 cm longer than the other, are lighted. The longer one
s lighted at 5:30 pm and the shorter at 7 pm. At 9:30 pm they both are of same
length. The longer one burns out at 11:30 pm and the shorter one al 11 pm. How
long was each candle originally?/ & dreforat, Rt & o gt & 3 #ft 7t &, et ardY 1 o
vt e 5:30 % v vt v 7w eTE AT &1 7T 8:30 T ¥ A sy Ak ey vt o
- )1-.3&:'&“#@1“11 w3 Tt v A g w0 & Rt S 4

Q.31 A number of three digits has the hundred place digit 4 times the unit place digits
and the sum of three digits is 14. If the three digits are written in the reverse order,
the value of the number is decreased by 594, Find the number. /#t= st o wwar &

A 2T &7 5%, TITE m § 60w 37 4 7o & ofvw sy sty o o 14 Frew & wf oty sk w32 A R
STAT &, 7 ST ¥ WA 594 FF 7 ATATH AW AT F9)

Q.32 A man sells an article at a profit of 25%. If he had bought it at 20% less and sold it
for Rs 10.5 less, he would have gained 30%%; find the Cost Price of the article.

s st T e W1 26% % AT 97 v §1 W T 20% w9 77w i ot o 10,50 T I 9T
T BT, T 39 30% AT §IAT) T W AT g9 WA $40

0.33 The height of a right circular cylinder is 10.5m. Three times the sum of the areas of
its two circular faces is twice the area of the curved surface./ Find the volume of the
cylinder. / s s qfre e Ff wwrk 10.5 o0t &1 o vl 1 goreTT wA & A A e oA,
TR T SR 1 S0 &, A7 A s e e

Q.34 Amit lent Rs 2550 to Rajiv at 7.5 percent per ann
after 8 month by giving an old black and white tel
price of the television./#fir = 2650 s ¥ 7.5% v af
o T e e ® 142250 wfiw €1 ¥ w7 e o e e

If Rajiv pays back the debt

on and Rs 142250, find the

b a2 oaf erdte B wie O
TE RS AS ST ST AT AT

Q.35 The following table shows the expenditure incurred by @j ublisher in publishing a
book: /Frs mife & 7 ok syt 7 97f =7 & famm
- |
Item Paper Printing Binding ertising | Miscellaneous
Expenditure | 35% 20% 10% 5% L 30%
(in %) '

Draw a Pie-Chart to represent the above data.
ALL THE BEST
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